











Proposal 70-2017-0789

Project: Collin County Adult Detention Center



Date: January 30, 2018

To: Brad Harris

Collin County Construction and Projects

4600 Community Ave. McKinney TX 75071

Reference: New Bonds Wall Project

From: Argyle Security - Service

Brian Hinkle Bob Brown

Service Manager Detention Service/Sales Manager



bhinkle@argylesecurity.com 12903 Delivery Drive San Antonio, Texas 78247 Office: (210) 708 2020

Office: (210) 798-2939 Mobile: (210) 859-8253 bbrown@argylesecurity.com o-210-495-5245 x3181 m-210-386-8819





PDi

COM-TEC



Project Quote #: 70-2017-0789

Argyle Security is pleased to provide this security proposal for your review and consideration. All system components have a warranty for a period of one (1) year, unless otherwise specified, against all defects in material and workmanship. This proposal shall remain firm for period of (30) days from the submitted date. Argyle Security payment terms are net (30) days with progressive billing.



MCS









Scope of Work

Scope of Work

Provide and Install one 10'8" x 7'4" 12GA frame and one 3'0" x 7'0" 12GA door w/ pass thru. Frame will have 7 pieces of glass, door will have 2.

One AD1101751 RH lock, 24VDC.

204FMSS Stainless Steel Hinges

LCN 2215DPS Door closer

Security Glass, 9 panels 15/16" Clear Secur-Tem + Poly.

Two new intercom stations with camera call up association programming. Intercoms will be added to the Booking Control Screens

Build out PLC door relays for control of new door lock. Add Door Control Icons to Booking Control Screens.

Add one new camera to view new door. Provide new Camera Icon on Booking Control Screens.

Provide PLC Programming to add Door, intercoms and camera to the Security Electronics Control System and CCTV System.

Add CCTV programming to add camera to existing CCTV Matrix input points.

Add CCTV Programming to add camera to existing DVR input points.

Add one new Smoke Detector

Add one new Fire Alarm Strobe

Add one new Exit Light













Exclusions and Clarifications

Payment:

100% Installation, Completion and Training

Installation Requirements:

Argyle will provide the necessary installation, termination and programming for the new Controlled Door, Intercoms and Camera on the system. The existing wire will be tested and identified for each door. The new devices on the system will be tested and training provided to the Security Staff on operations and controls.

Argyle will provide and install the new frame, door, glass and hardware.

Warranty:

Argyle offers a standard one (1 year) (365 days) warranty on all labor and material included in this project. Components noted to have more than one year of warranty will be warranted by the manufacturer with a [3] year warranty. All system components provided in this proposal are warranted against all defects in material and workmanship. Any existing wire, components, devices or conditions will not be covered in the agreement.

Sales Tax:

Sales Tax is not included in this proposal, if the facility is Tax Exempt please forward exemption letter for our records.

Training:

Argyle will provide training to the facility for Administration, Operator and Maintenance

Excluded: (if applicable to this installation)

Installation of new conduit
Repair to existing devices not functioning (quote on cost will be provided)
Bond
Licensing and permits
CMU block installation
Ceiling modification
Floor Repair
Painting
Grouting













Project Cost

Total System Cost including:	
Material	
Design and Engineering	
Programming	
Fabrication	
Installation	
Testing and Training	
Travel and Labor	
PROJECT COSTS: \$50,847.00 Detention and Electron	onics.
Payment Bond: \$1,272.00	
Project Total Cost: \$52,119.00	
NOTE: ANY ADDITIONAL PLANNING MEETINGS V CHARGE OUTSIDE OF THIS CONTRACT.	WITH OWNER ONSITE WILL BE A SEPARATE
Thank you for allowing Argyle Security the opportunity to participate i work as outlined in this proposal, please sign below and fax directly to	
Sincerely,	
Brian Hinkle Service Manager	Bob Brown Detention Service/Sales Manager
Argyle Security AUTHORIZED SIGNATURE	
By signing below, I accept this proposal and agree to the	ne Terms and Conditions contained herein.
CUSTOMER NAME	DATE
x	
AUTHORIZED SIGNATURE	PRINTED NAME/TITLE



Collin Co Adult Detention Center

Brad Harris

Add Controls for New door and intercoms

!Si PDi





www.argylesecurity.com

Argyle Security - Service

12903 Delivery Drive San Antonio, Texas, 78247 Office: (210) 495-5245 Fax: (210) 495-9863

bjharris@co.collin.tx.us

FACILITY:

PROJECT #:

ATTENTION:

REQUEST:

QUOTE #

70-2017-0789

DATE:

January 30, 2018

SHIP TO: **Collin Co. Adult Detention Center**

ATTENTION: **Brad Harris**

4600 Community Ave. ADDRESS:

McKinney, Tx 75071

NUMBERS: 972-547-5492 MAIN

> 214-205-7322 CELL

SALESPERSON	JOB	SHIPPING METHOD	SHIPPING TERMS	DELIVERY DATE		PAYMENT TERMS	DUE DATE	
HINKLE		UPS	GROUND			30 days		
bhinkle@argyl	esecurity.com							
QTY	ITEM #	DESCRIPTION			UNIT PRICE		LINE TOTAL	
2.00	CIS4/25	Two gang int	ercom stations		\$	70.00	\$	140.00
2.00	SC235	Two Gang	Back Boxes		\$	8.00	\$	16.00
1.00	4650	Intercom	Cable 1000'		\$	128.00	\$	128.00
1.00		Relays	and Misc		\$	150.00	\$	150.00
1.00	VDN-5058-V321s	Bosch Mini I	Dome Camera		\$	592.00	\$	592.00
1.00	6090	RG59 / 18-2		\$	286.00	\$	286.00	
1.00		N	lisc		\$	100.00	\$	100.00
					\$	-	\$	-
32.00		Onsite Labor		\$	125.00	\$	4,000.00	
12.00		Hours Travel		\$	75.00	\$	900.00	
4.00		Hotel and Perdiem		\$	200.00	\$	800.00	
1.00		PM				\$	2,500.00	
24.00		Progra	amming		\$	150.00	\$	3,600.00
1.00		Fire Ala	arm work		\$	4,950.00	\$	4,950.00
1.00		Exit Light a	nd Installation		\$	857.00	\$	857.00
					Tax	Rate = EXEMPT		19,019.00
US OLIOTATION IS	. ON V VALUE FOR 22	DAVO DI FACE DO	NOT LIEUTATE TO COM	TAOT 110 MUT!		SHIPPING	\$	50.00
	S ONLY VALID FOR 30 OOK FORWARD TO SE		NOT HESITATE TO CON	TACT US WITH		SUBTOTAL		19,069.00
						Tax = 8.25%		1,473.9
ICTOMED ACCEPT	ANCE:					TOTAL	\$	20,542.97









Collin County Adult Det Center

New Bond Wall

JD Griffin/Brad Harris

Install new frame/door







www.argylesecurity.com

Argyle Security - Service

12903 Delivery Drive San Antonio, Texas, 78247 Office: (210) 495-5245 Fax: (210) 495-9863

FACILITY:

PROJECT #:

ATTENTION:

REQUEST:

QUOTE #

70-2017-0789 Hardware

DATE:

January 30, 2018

SHIP TO: Collin Co Adult Det Center

ATTENTION: Brad Harris

ADDRESS: 4600 Community Ave

McKinney, TX 75071

NUMBERS: 972-547-5492 MAIN

CELL

SALESPERSON	JOB	SHIPPING METHOD	SHIPPING TERMS	DELIVERY DATE	PAYMENT TERMS	Г	OUE DATE
Brown	Collin Co	UPS	GROUND	GROUND 30 days			
bbrown@argy	lesecurity.com						
QTY	ITEM #	DESCRIPTION		LABOR	UNIT PRICE	LINE TOTAL	
	S/F	Detention Hardware				\$	3,797.00
	Wlewis Frame	Hollow Metal Frame/Door				\$	8,150.00
	Global	9 pcs 15/16" Clear Secur-Tem + Poly Anchors, welding supplies, glazin tape, caulk, etc. Two tech's 32 hrs. @ 200.00 p/hr.			\$	4,950.00	
	Material					\$	1,500.00
	Labor					\$	6,400.00
	Travel	Travel 12 hrs	Travel 12 hrs. @ 75.00 p/hr.			\$	900.00
	Motel	Lodging/Per Diem				\$	1,080.00
		Engineering	/Warranty/PM			\$	5,000.00
						ć	24 777 00
					SHIPPING	\$	31,777.00
THIS QUOTATION IS ONLY VALID FOR 30 DAYS. PLEASE DO NOT HESITATE TO CONTACT US WITH					SUBTOTAL	Ś	31,777.00
QUESTIONS. WE LOOK FORWARD TO SERVICING YOU.				Tax =9.6%	-	-	
CUSTOMER ACCEPT	ANCE:				TOTAL	-	31,777.00
PRINT NAME:					'		
PURCHASE ORDER #	<i>t</i> :						





